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The figures in the margin indicate full marks
for the questions y

th appropriate words :

1. Fill in the planks wi
1)(7:7

(a) The theory of inheritance was proposed
by in 1941.

helical coiling of DNA

(b) Left handed
haracteristic of

molecules is €

(c) Conversion of nitrate to ammonia is a

pI'OCCSS.

——

(d) Cloned DNA sequence can be physically

mapped by
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=29

(e)

is the s
ca mall .
pable of reCOmbin:tSit unit of DNA
on.

(f)l Carbohydrates A

that :
yield
hydrolysis. such

—— 0
e f substances
mpounds on

(s
g) Nomenclature of
the enzymes ar
. e dotie &
Y

2. Defin
e the following in bri
(a) Selfish genes i "
x =
(b, '
) Nucleotides ang nuc]
Cleoside
s

(c) Plei
: 1exotropl‘lic mutat]
ation

a
(a) Tautomerisation

(b) Genetic code

(C) Structural Orga-n-
1Zatj

(d) Pribnow box

(e) Nitrate reducta
se

A9/T712
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4. Answer any threé of the following - 10x3=30

(a) What

ne? Explain the
in the positive

gulation of gene
2+8=10

js promoter ge

mechanism involved
] system for the 1€

contro
coli lac operon-

activity in E.
lain briefly
the mel
mutation.

mutation.
of
2+8=10

(b) EXP the point-
Describe ofic behaviour
fra:ma—shift
amino acids? Give an account

ds in plants.

What are
amino acl
7+8=10

(c)
of synthesis of

i D—ketoses?
hysical and
f mono-

(d) Wwhat are the family ©
Explain priefly the P
chemiC properties

saccharides-
e O ghine-

Describe the
tion and

er sequenc
nce?
anscrip

is lead
(SD) seque
etween ir

(e) What

* kK
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( Bioinformatics,
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The figu

Choos€ th

(a) Wwhich of the
nucleotide sequ

res in the margin indi
for the questions

e correct answer /Fill i
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Computer Application
Biotechnology )

rks : 60
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cate full marks

n the blank :
1x7=7

following is mnot 2
ence database?
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(2)

(c) 1 megabyte is equal
(i) 1000 bytes 0
(@ 1024 bytes
(f'ii} 1024 kilobyte
) 1008 kiIobyte:

(d) Whi
ich techn;
i u .
‘ I i eration
(.z.) Meristem cultiy
(@) Pollen culty i
0 re
((1} Both (i) ang i)
17) i
) None of the
(¢) Who amon e
known g the follow;
ol b0 owing is po
gerprinting? ther of Ing; phlady
’ ! ian
(1) Lalji Sty DNA
i) P. K. Gupi
(i,
[ Y Alec John Jefs
w re
() F) i Swaminatlj:s
lavr Savr is gen -
r . etiCal
(l) rice ly modlﬁed
(i) potato
(i) tomato

(lll)} SOybe an

A9/T13

( Continued )

(3)

(g) Linux is &
(i) malware
(i) firmware

rating system

(i) oPe€
(iv) application program
2. Define the following * nx4=8
(a) BLAST '
(b) GenBank
(c) Neighbou® joining method of molecular
phylogeny
(d) Wwindows operating system
3. Write o any thre€ of the following 5x3=15
() sOmatic embryogenesis
(b) Ccomputer aided drug design
(c) Distinction petween micro—injection and
electroporation
(@) Sequence retrieval system
(e) Role of DNA sequencing in modern
biotechnology
4. AIISWET any threé of the following : 10)(3:30
(@) pefine Bioinformatics. Mention the
differen pranches of Bioinformatics and
their imp rtance in Biology. Discuss the
importance of Biological databases in
present context of Biological research.
2+4+4=10
79/713 ( Turn Over )
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(b) Describe briefly the principle of Sanger’s
dideoxynucleotide chain termination
method. Discuss how DNA sequencing
technology can pe used for crop
improvement Programmes, 7+3=1C

() Explain Agrobacterium mediated gene
transfer method . Describe briefly the
achievements already made in the
production of transgenic plants for

Improvement of agriculturally important
traits. 4+6=10

(d) What is the basic difference between

(e) What are the different Components used

research can be utilized for crop
improvement, 3+7=10

* o o
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The figures in the margin indicate full marks
for the questions

1. Answer the following questions : 1x7=7

(@) What 18 photoinhibition?

(b) Wwhat do you meat by chemical
potential?

(c) Definé permanent wilting percentage.

(d) What 18 apoplast?

(e) Name the plant hormone discovered
from rice ﬁeld

A9 /714 ( Turn Over



0

(g)

&2 )

What is th
e el
lamella? ement present in midd
1ddle

Who
pro
posed Z scheme and
Suggested

that tw
0-pigm
series? ent system ope
rates in

2. Answer tl
er e fOH_ s
OWIng questions in !

Iief o 2)(4—-
i =8

(a)

(b)

(c)
(d)

Durin
g day tim
cell incre e, why do
ase? es pH of
guard
What is
Kran
exampl Z anat
W G having(;;rny:) Give an
= angz
hat is apical daritr anatomy.
Why : ce?
is
bidirectional? translocation
prOCeSs

3. Answe
r/Writ
€ on any three of t, "
€ follow;
ng 5

(a)
(b)
(c)

(@)

(e)

714

Phloe :
m loading and SR 5x3=15
ading

Florigen concept

EA et )
piration

; is
Justlfy_ a neCeSS
Yy eVil.u

Write a
vital theoSk'lort note on g
ries of ascent ¥ GHeNgE i
of sa e
p.

Explai '
plain briefly glycolytic path
a wa
Y.

(3)

How is water translocated in plants—
describe the me ith modern
theory- Justify
theory-

Or
e and outer space?

hanism of
3+7=10

What are inner spac

Work ©
rnineral salt absor
and Ppoo 10

roles of Fego
n-cyclic electron transport
10

ption.

Discuss the
cyclic and no

pathw ays-
Or

derstand by gibberellins
:ve an account of their

k,inms? Giv
and mechanism of
3+7=10

What 1S
ochromeé, which
it from other pigments?
sDP and DNP according to

periodic response with at
2+2+6=10

(c) pefiné
feature of phyt

least

Or
tic stresses in
ants defend
s? 2+8=10

ifferent abio
do the pl
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for the questions

Rill in the planks : 1x7=7
@ — is the most iinportant drug
obtained from Cinchona officinalis

which 18 used in the cure of malaria.

(b) is known as pioneer of Green

/ .
Revolution-

(c) P'meapple pelongs to the family \

(d) Major alkaloid of periwinkle plant is
o

ame of Cocoa is

(e) Scientiﬁc n
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(3)

(2)
() Lin
t and f
uzz fib
se 10T
Bas: €s are found in
@) “Taxol’; (d) Give an account ©of centre Of origin
is obtained fro of crop plants as proposed by N. L
2. A m the plant Vvavilov.
W nswer th P
{ e following in by (e) Write a note on crop domestication-
. a} Whie's rief :
t ]_S ‘Tr
aditi 2x4=8
B MehBl lonal Knowle e 4. Answer in detail the following 10%3=30
n th f
e g € 5
(z; Znomlcally iSClentiﬁC s (a) Elucidate the term ‘Crop ;mprovement”
urmeric ang ;?Fortant zme and Describe how crop improvernent brings
(c) Wri % clove arts  of out ‘Green Revolution’ in India
1te the -
castor se chemica] ar
ed. COmPOS_ !
(d) Define ltion of Write <cientific 1AM potanical
importanEthnebotany’ description products and uses of the
o and write | following economically important
3. Answ iy plants
er an
Y three of the foll (i) Mustard
owi
fal. Discus Ng questions - (i) sugar beet
s the .
e . :
g Andrographlsconomlc e 5x3=15 (b) what is harmacognosy? Give an
(b) Me and (i) Ray Portance of count of pharmacognosy with respect
ntion volfi ‘ .. srapce of 1SCS of medicinal
used andthe botanicq) et tiail: ok
; s
(i) Henn Importan Name P
a ce S
(c) e iy leap:;t; 0
c) Writ
e about the . What ar€ non—timber plant resources?
essing of Wwrite @ note OB the non-timber plant
g resources of Nortthast India.
A9I715 ( Turn Ov
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(4)

(c) What do You mean by
plant T€sources? Gijye an
Soya bean ang pea.

leguminous
account of
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